

November 16, 2006

Ms. Susie Julison, Executive Director Northwest Special Recreation Association 3000 W. Central Road #205 Rolling Meadows IL 60008

Dear Ms. Julison:

Re: Improvements Proposed to be Financed Using Special Recreation Levy

Schaumburg Park District hereby notifies and requests approval of the NWSRA Board of Directors for the proposed expenditures of funds from the District's Special Recreation Levy to pay for the cost of ADA improvements at playgrounds located at Doherty, Elaine Bond and Salk Parks. I have enclosed Attachment A that itemizes the ADA improvements at each of these playgrounds. The total cost is \$154,742.50. These improvements have been completed as of September 30, 2006. The benefits of these projects to NWSRA are as follows:

- 1) Provide accessibility to the playgrounds
- 2) Provide accessibility to individual play events

Schaumburg Park District respectfully requests that you review this proposal and present it with your approving recommendations to the NWSRA Board of Directors.

If you have any questions or need any additional information, please do not hesitate to contact me.

Sincerely,

SCHAUMBURG PARK DISTRICT

Jean Schlinkmann, CPRP

**Executive Director** 

# 2006 Playground Projects - Park Improvements Involving ADA

Accessibility
Schaumburg Park District
Date: October 07th, 2006

DESCRIPTION	ESTIMATED COST	COST
DESCENT ALCOH		0.24
	Calculation	COSL
DOHERTY PARK		
Curking (STE)	lump sum	\$1,180.00
1) Concrete (Colletete Depressed Cursing (52 22 ))	lums gmul	\$650.00
2) New Aspliant I amway (Learning to Cure Cure) (1597SF))	lump sum	\$7,665.00
3) Kemove and Replace Aspirant a annual (2 of 6 pure pure )	lump sum	\$17,131.00
(4) Salety Surfacing (110 Surfacing (770 St.))	1 cach @ 42,544.00 x .40 (40%)	\$17,017.00
D) Flayground Equipment 1 tovision/misumenon	1 each @ 4.348.00 x .5 (50%)	\$2,174.50
6) 4 Swing Seat (1 wo seats accessive)		
	DOHERTY PARK TOTAL:	\$45,817.50

\$35,001.00	ELAINE BOND PARK TOTAL:	
		1) 1 000000
\$4,107,00	1 each @ 4,314.00 x .5 (50%)	4) 4 Swing Seat (Two seats accessible)
\$3 157 DD		3) Flayground Equipment a royastom maranament
\$11,944.00	1 each @ 29.860.00 x .40 (40%)	o) Di
*** O * * OO		(2) Safety Surfacing (The Surfacing (Tree or ))
\$20,558.00	dums cumil	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
שיט ביני ממ		1) Concrete Concrete Depressed Caronig (19 La ))
\$342.00	lump sum	1) C 18 (Caracta Danisand Curhing (18 I H))
		ELAINE BOND PARK

DESCRIPTION	ESTIMATED COST	OST
	Calculation	Cost
SALK PARK		
1) Concrete (Concrete Depressed Curbing (20 LF))	mns dunl	\$380.00
2) New Asphalt Pathway (Leading to Curb Cuts) (140SF))	lump sum	\$650.00
3) Remove and Replace Asphalt Pathway (5' of 8' pathway) (4695SF))	mns dunl	\$22,664.00
4) Safety Surfacing (Tile Surfacing (1622 SF))	uns dunl	\$27,699.00
5) Playground Equipment Provision/Installation	1 each @ 45,805.00 x .40 (40%)	\$18,322.00
6) 4 Swing Seat (Two seats accessible)	2 each @ 8418.00 x .5 (50%)	\$4,209.00
	SALK PARK TOTAL:	\$73,924.00
A Company of the Comp		

\$154,742.50

Project Totals Involving All ADA Accessible Improvements:

11-10-04



(630) 837-2468 FAX (630) 837-9720

1919 Walnut Avenue Hanover Park, Illinois 60133

Member Illinois Association of Park Districts

November 6, 2006

### RE: ADA FUNDING FOR HERITAGE PARK RENOVATION

### To Whom It May Concern:

The Hanover Park District was recently awarded the Illinois Department of Natural Resources Open Space Land Acquisition and Development Grant for the renovation of Heritage Park. One of the projects primary goals was to allow and encourage participation in the recreational activities by all residents within the Park District, particularly those with various physical challenges. To this end, the Park District supplied numerous elements that meet and support the needs of the Americans with Disabilities Act. The Special Recreation Association in Hanover Park has a strong level of participation, and was a key component of the planning decision making for the redevelopment of Heritage Park. The following is a summary of the items where the Park District provided for those with physical challenges, and the associated costs for doing so:

1.	Handicap Parking Spaces	\$ 7,707.00	
	(Spaces, drive lane depressed curb)-		
2.	Asphalt Walking Trail (5' of the 8' trail)-	\$34,371.00	
3.	Tennis Courts (1 side of one court)-	\$ 8,422.00	
4.	Basketball Court (1/6 of the court, just like Tennis)	- \$ 9,974.00	
5.	Fishing Pier and Railings	\$35,300.00	200
6.	Playground Addition (curbing, surfacing, equip.)	\$79,744.00	192,893,00
7.	Shelter (1/4 of the space)	\$ 7,375.00	140.1

The calculation of the handicap parking spaces includes the actual
parking and maneuvering space, the depressed curb and gutter as
well as half of the drive lane to provide access to the parking spots.
This is key to being able to provide the needed parking spaces in the
first place.

2. We believe the asphalt walking trail is a benefit to all park users, but in particular, those that are confined to walkers or wheelchairs. To this end, we believe the benefits of providing the minimum width where two people in these circumstances may pass is a fair and reasonable provision with respect to the allocation of the costs.

3. The Park District is planning to offer a tennis program that encourages participation by wheel chair and SRA participants at this location. The allocation of one side of one court is being proposed here, were it would certainly be reasonable to offer one entire court to this endeavor.

4. The Basketball program will encourage participation from the SRA and physically challenged participants as part of their growth and experience process, as well as rehabilitation opportunities.

5. The Fishing Pier has been specifically designed with the disabled in mind. The layout of the pier, railings and access were all planned for the fishing program dedicated to the SRA and to those within wheelchairs, as well as the general population.

6. The new Playground addition features accessible ramp into the play area, fully covered synthetic rubber surfacing (poured in place-seamless), and play equipment designed to accommodate the needs of those with physical challenges and limitations.

7. Finally, the shelter that we are providing will include picnic tables that are accessible. This makes the shelter added to the park an integral portion of the overall experience for those with all abilities. For that purpose, we are including 25% of the cost of the shelters into the overall calculation of costs attributable to the ADA program within the Hanover Park District's budget.

Attached is an Excel Spreadsheet illustrating the exact Bid Form Line Items that result in the costs depicted above from the recent competitive bidding for the redevelopment of Heritage Park. Please feel free to contact me with any questions you may have.

Very truly yours,

Mark Pentecost Superintendent of Parks, Hanover Park District

		)	N N				
Site Furnishings							
45 Purchase and Delivery of 20' Poligon Hex. Shelter	П	EA	↔	\$ 00'005'6	9,500.00	0.25 \$ 2,375.00	
46 Installation of 20' Poligon Hex. Shelter	2	EA	↔	10,000.00 \$	20,000.00	0.25 \$ 5,000.00 \$	7,375.00
47 Stair Railing	48	LF	↔	100.00	4,800.00	1 \$ 4,800.00	
48 5' EZ Dock Railing	9	EA	₩.	250.00 \$	1,500.00	1 \$ 1,500.00	
49 10' EZ Dock Railing	2	ΕA	<del>()</del>	\$ 00.00	1,000.00	1 \$ 1,000.00	
50 40" EZ Dock Railing	7	EA	<b>↔</b>	2,000.00 \$	4,000.00	1 \$ 4,000.00	
51 Purchase and Delivery of EZ Dock Floating Pier	7	EA	↔	20,500.00 \$	20,500.00	1 \$ 20,500.00	
52 Installation of EZ Dock Floating Pier	₩	EA	€9	3,500.00 \$	3,500.00	1 \$ 3,500.00 \$	35,300.00
Playground							
56 Purchase and Delivery of Playground Equipment	7	LS	<del>63</del>	17,500.00 \$	17,500.00	1 \$ 17,500.00	
57 Installation of Playground Equipment	1	ĽS	↔	17,500.00 \$	17,500.00	1 \$ 17,500.00	
58 6" × 18" P.C.C. Curb	348	LF	€	20.00 \$	6,960.00	\$ 6,960.00	
59 Playground Ramp	1	ΕA	₩	1,000.00 \$	1,000.00	\$ 1,000.00	
60 Removal of Existing Safety Surfacing	~	15	€9	2,000.00 \$	2,000.00	\$ 2,000.00	
61 New Safety Surfacing and Drainage Gravel	4912	SF	€9	4.00 \$	19,648.00	\$ 19,648.00	
62 Poured-in-Place Rubber Surfacing	946	SF	€	16.00 \$	15,136.00	\$ 15,136.00 \$	79,744.00
BASE BID TOTAL				<del>€3</del>	348,213.75	\$ 176,027.46 \$	176,027.46
				₩	598,983.25		
Alternate 1: Purchase and Install Shelter Cupola - ADD	<del>بر</del> ا	LS	€	2,000.00 \$	2,000.00		

Site Work. ITEM DESCRIPTION	QTY.	UNIT	IND	A LAMP C UNIT PRICE	A LAMP CONCRETE PRICE LINE TOTAL	'AL			
Electrical									
Basketball and Tennis Courts								·	·
23 New Tennis Court Fence Fabric	555	LF	€9	25.00	\$ 13,8	13,875.00	0.16666667 \$	2,312.50	
24 Pair Tennis Court Net Posts	က	EA	₩	1,000.00	3,6	3,000.00	0.166666667 \$	500.00	
25 Nylon Tennis Court Net	ຕ	EA	↔	200.00		600.00	0.166666667 \$	100.00	
26 Petromat Fabric Crack Repair over Tennis Court Tennis Court Asphalt (2" Surf /2" Binder w /8" CA-6) and	2099	SY	€9	2.00	\$. 4,1	4,198.00	0.16666667 \$	699.67	
27 Petromat Overlay	2099	SY	€9	13.75	\$ 28,8	28,861.25	0.16666667 \$	4,810.21 \$	8,422.38
28 Basketball Court Asphalt (2" Surf./2" Binder w/8" CA-6)	1334	SY	₩	26.00	\$ 34,6	34,684.00 (	0.166666667 \$	5,780.67	
29 Basketball Goals	4	EA	<del>6)</del>	2,000.00	3,8	8,000.00	0.166666667 \$	1,333.33	
30 Color Coating (Basketball and Termis Courts)	3433	SY	€5	5.00	\$ 17,1	17,165.00 (	0.166666667 \$	2,860.83 \$	9,974.83
Surfacing					·				
36 Asphalt Path Full Course	1509	SX	€₽	26.00	\$ 39,2	39,234.00	0.625 \$	24,521.25	
37 Concrete Stem Wall	32	ĽF	↔	200.00		6,400.00	0.625 \$	4,000.00	
38 Concrete Block Steps and Cheek Walls	168	Ħ	₩	30.00		5,040.00	0.625 \$	3,150.00	
39 Concrete Block Retaining Walls	144	됀	€7	30.00		4,320.00	0.625 \$	2,700.00 \$	34,371,25
Parking Lot								•	
40 B-6/12 Curb and Gutter	503	H	€	15.00 \$		7,545.00		,	
41 Depressed Curb (Handicap Access and Drive Entry)	. 98	ĽŁ	€9-	15.00 \$		1,290.00	36 \$	540.00	
42 Parking Lot Asphalt	1070	SY	€	27.25 \$	1	29,157.50 \$	27.25 \$		
44 Handicap Signage	۲	ĽS	<del>⇔</del>	300.00 \$		300.00	₩	300.00	840.00

### Alternate 2:

Purchase and Install Sarasota Shelter Ornamentation - ADD	щ	SJ	₩	8,000.00	€Đ	8,000.00
Alternate 3:						
Remove and Replace Existing Cabinet with Light Control						
Cabinet - ADD	<b></b>	S	€	13,500.00	€	13,500.00
Deduct Upgrade Existing Distribution Panel	⊣	ST	↔	(2,052.00)	<b>⇔</b>	(2,052.00)
Subtotal					€9	11,448.00
Alternate 4:						
Removal of (6) "Off-Site" Pathway Lights - ADD	щ	ST	<del>-                                    </del>	2,200.00	€	2,200.00
Alternate 5:						
Relamp and Clean Existing Light Fixtures	6	EΑ	₩	550.00	€9	3,300.00

.

New Print

		E	A LAM	P CONCRETE BI	D FORM	ADA CONTRIBUTION	CALCU	ATIONS
Bid Form#	ADA APPLICABLE ITEMS	QTY	UNIT	UNIT PRICE	LINE TOTAL			SUBTOTAL
						<del>-,</del>		
	arking Spaces (Spaces, Drive Lane, Depressed Curb)	<del></del>	T	1		T	<del></del>	<del></del>
40	B-6/12 Curb and Gutter	503	LF	\$ 15.00	\$ 7,545.00			_
41	Depressed Curb (Handicap Access)	86	LF	\$ 15.00	\$ 1,290.00	36 LF	- \$	540.00
42	Parking Lot Asphalt (drive and spaces for ADA only)	1070	SY	\$ 27.25	\$ 29,157,50	252 SY	\$	6,867.00
44	Handicap Signage	1	LS	\$ 300.00	\$ 300.00		- \$	300,00
				TOTAL	\$ 38,292.50	то	TAL: \$	7,707.00
2. Asphalt Wal	lking Trail (5' of the 8' trail)							
	Asphalt Path Full Course	1509	SY	\$ 26.00	\$ 39,234.00	0.625		24 524 25
	Concrete Stem Wall	32	LF	\$ 200.00		0.625	\$	24,521.25
	Concrete Block Steps and Cheek Walls	168	FF	\$ 30.00				4,000.00
	Concrete Block Retaining Walls	144	FF			0.625	\$	3,150.00
39	Conclude Mark Newscall (1985)	199	ı rr	\$ 30.00 TOTAL:		0.625	\$	2,700.00
				TOTAL	\$ 54,994.00	[	AL. \$	34,371.00
3, Tennis Cour	ts (1/6 of the court)	<del></del>			·····	- <del></del>		
23	New Tennis Court Fence Fabric	555	LF	\$ 25.00	\$ 13,875.00	0.166666667	\$	2,312.50
24	Pair Tennis Court Net Posts	3	EA	\$ 1,000.00	\$ 3,000.00	0.16666667	\$	500.00
25	Nylon Tennis Court Net	3	EA	<b>5</b> 200.00	\$ 600,00	0.166666667	\$	100.00
26	Petromat Fabric Crack Repair over Tennis Court	2099	SY	\$ 2,00	\$ 4,198.00	0.166666667	. \$	699.67
27	Tennis Court Asphalt (2" Surf./2" Binder w/8" CA-6) and Petromat Overlay	2099	SY	\$ 13.75	\$ 28,861.25	0.166666657	\$	4,810.21
				TOTAL:	\$ 50,534.25	тот	AL: \$	8,422.00
4. Basketball C	Court (1/6 of the court)	η			-		<del></del>	
28	Basketball Court Asphalt (2" Surf./2" Binder w/B" CA-6)	1334	SY	\$ 26.00	\$ 34,684,00	0.16666667	\$	5,780.67
29	Basketball Goals	4	EA	\$ 2,000.00	\$ 8,000.00	0.166666667	\$	1,333.33
30	Color Coating (Basketball and Tennis Courts)	3433	SY	\$ 5.00	\$ 17,165.00	0,166666667	\$	2,860.83
				TOTAL:	\$ 59,849.00	тот	AL: \$	9,974.00
5. Fishing Pier	and Railings		···-·					
	Stair Railing	48	LF	\$ 100.00	£ 4,500,00		$\Box$	4 800 00
	5' EZ Dock Railing	6	EA	\$ 250.00		1	\$	4,800.00
	10 EZ Dock Railing	2	EA	\$ 500,00		1	\$	1,500.00
	40° EZ Dock Railing	2				1	\$	<del></del>
	Purchase and Delivery of EZ Dock Floating Pier		EA	\$ 2,000.00		1	\$	4,000.00
	Installation of EZ Dock Floating Pier	1	EA	\$ 20,500.00		1	\$	20,500.00
	maranesion of PS Dock Floating Lies	] ]	EA	\$ 3,500.00		1	\$	3,500 00
				TOTAL:	\$ 35,300.00	ТОТ	AL: \$	35,300.00
6. Playground	Addition (curbing, surfacing, equip.)							
56	Purchase and Delivery of Playground Equipment	1	LS	\$ 17,500.00	\$ 17,500.00	1	\$	17,500.00
57	Installation of Playground Equipment	1	1.5	\$ 17,500.00	\$ 17,500.00	1	\$	17,500.00
58	6" x 18" P.C.C. Curb	348	LF	\$ 20.00	\$ 6,960.00	1	\$	6,960.00
59	Playground Ramp	1	EA	\$ 1,000.00		1	\$	1,000.00
60	Removal of Existing Safety Surfacing	1		\$ 2,000.00		1.	\$	2,000.00
61.	New Safety Surfacing and Drainage Cravel	4912		\$ 4.00		1	\$	19,648.00
	Poured-in-Place Rubber Surfacing	946		\$ 16.00	·	1	\$	15,136.00
			المستقد	TOTAL:		тот		10,100.00

4	5 Purchase and Delivery of 20' Poligon Hex. Shelter	1	EA	ļs	9,500.00	Ţ	0.500.00			
	6 Installation of 20' Poligon Hex. Shelter	2	EA	+		1	9,500.00	0.25	-   \$	2,375.0
			J EA	\$	10,000,00	<u>}                                    </u>	20,000.00	0.25	_ \$	5,000.0
		<del></del> -			TOTAL	<u>.</u> 5	29,500.00	тотл	L: \$	7,375.0
			—			7_				
		<del></del>			BID TOTAL	1	602,683.25			
		ACCEPTE	DALTE	RNAT	ES (1, 3, & 5	) \$	16,748.00			
		<del>-</del>	CONT	RAC	T AMOUNT	: \$	619,431.25	TOTAL ADA CONTRIBUTIO	N: \$	182,893.0
RNATE	DESCRIPTIONS:									
	Purchase and Install Shelter Cupola - ADD	1	LS	\$	2,000.00	s	2,000.00			
ate 3:										
	Remove and Replace Existing Cabinet with Light Control Cabinet - ADD									
	Deduct Upgrade Existing Distribution Panel	1	LS	\$	13,500.00	-	13,500.00			
	g	1	LS	\$	(2,052.00)	\$	(2,052,00)			
<b>-</b>				S	UBTOTAL:	ş	11,448.00			
rale 5:										
	Relamp and Clean Existing Light Fixtures	6	ĒΑ			\$				

550.00 \$

3,300.00



November 9, 2006

Ms. Susie K. Julison **Executive Director** Northwest Special Recreation Association 3000 Central Road, Suite 205 Rolling Meadows, IL 60008

Husky Park Pathway Improvements Proposed to be Financed Using Special Recreation Re:

Dear Ms. Julison:

The Wheeling Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy to pay the cost of the following improvements at Husky Park:

Replacement of stone path with asphalt pathway

Park District staff has determined that the ADA portion of these improvements should be 100% of the total cost. The total cost for the improvements was \$12,920.00. These improvements were completed in October, 2006. The benefits of this project to NWSRA are as follows:

Provides a completely accessible pathway around park

The Wheeling Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 465-2935.

Sincerely,

Jan Buchs

**Executive Director** 



### FORMATIONS ARCHITECTS & PLANNERS, INC.

650 EAST DEVON AVENUE SUITE 175 ITASCA, ILLINOIS 60143 630-285-1190 FAX 630-285-1195

### **MEMORANDUM**

DATE:

11-10-06 (revised 11-13-06)

PROJECT NAME:

**General Conditions** 

Professional Services

Pedestrian Egress Alteration

PROJECT # 0641

FROM:

Bill Scheck

SUBJECT:

ADA/Accessibility related construction

Accessible Parking Pavement/Base Striping Signage	1800 SF @ \$3.75 4 stalls @ \$50 4 @ \$100	\$6,750 200 100
Sidewalks with truncated dome (concrete, excavation b	*	\$7,550
Additional curb	50 LF @ \$29.50	\$1,475
Sidewalks (other than textured) Demolition New walk (concrete, ex	2,490 SF @ \$1	\$2,490 \$11,205
Additional Railing	13'-4" @ \$26.66	\$355
Increased stair landing (Areas of Concrete landing Increased beam spans		\$5,400 _2,000
Subtotal Consti	ruction cost	\$37,525
Bond		\$2,791

**TOTAL** 

\$46,303

\$4,179

<u>\$1,808</u>



(630) 837-2468 FAX (630) 837-9720

1919 Walnut Avenue Hanover Park, Illinois 60133

Member Illinois Association of Park Districts

### ADA FUNDING REQUEST FOR COMMUNITY CENTER ENTRANCWAY RENOVATION

To Whom It May Concern:

The Hanover Park Park District is undergoing a dramatic renovation to both our entrances into the Community Center. The leading cause for this project is to remedy the dramatic deterioration of our elevated walkways that allowed accessibility to our 1<sup>st</sup> floor. In order to get the project within budget we were forced to redesign the entrances and we are installing open air concrete staircases. We have decided to also add a closer drop off area to the building and we have incorporated 4 new handicapped parking spaces in this area. The grade of the sidewalk has been reduced to allow accessibility and new sidewalk has also been added to allow safe travel for pedestrians through the drop off zone. A portion of the staircases has been designed specifically for the safety of individuals with disabilities. The landing at the 1<sup>st</sup> floor is large enough to accommodate several wheel chairs in case of an emergency. The following is a budgetary breakdown of the items and there costs that we wish to be considered as ADA compliance items.

Very truly yours,

Mark Pentecost Superintendent of Parks



### **FORMATIONS** ARCHITECTS & PLANNERS, INC.

650 EAST DEVON AVENUE SUITE 175 ITASCA, ILLINOS 60143 630-285-1190 FAX 630-285-1195

### MEMORANDUM

DATE:

11-10-06

PROJECT NAME:

Pedestrian Egress Alteration

PROJECT # 0641

FROM:

Bill Scheck

SUBJECT:

ADA/Accessibility related construction

Accessible Parking

Pavement/Base 1800 SF @ \$3.75 \$6,750 Striping 4 stalls @ \$50 200 Signage 4@\$100 100

Sidewalks

Demolition 2,180 SF @ \$1 \$2,180 New walk and base 2,180 SF @ \$4 8,720

Increased stair landing (Areas of Refuge)
Concrete landing 216 SF @ 216 SF @ \$20 \$4,320 Increased beam spans 2,000

> Total \$24,270



### PROSPECT HEIGHTS PARK DISTRICT

Phone: (847) 394-2848 Fax: (847) 394-7799

110 W. Camp McDonald Road • Prospect Heights, Illinois 60070

September 27, 2006

Ms. Susie K. Julison **Executive Director** Northwest Special Recreation Association 3000 Central Road, Suite 205 Rolling Meadows, IL 60008

Re: Improvements Proposed to be Financed Using Special Recreation Levy

Dear Ms. Julison:

The Prospect Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the following improvement:

### 15-PASSENGER BUS WITH ACCESSIBLE LIFT

The estimated cost of the improvement from the special recreation levy is \$43.706.97. The improvement is expected to be substantially complete by the conclusion of 2006. Anticipated benefits of the project to NWSRA are as follows:

### TO PROVIDE ACCESSIBLE TRANSPORTATION FOR PROGRAM PARTICIPANTS

The District respectfully requests that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me.

Very truly yours,

gerly nowicki Kathy Nowicki

Executive Director

Copy to

**Board of Park Commissioners** 



September 25, 2006

Ms. Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road, Suite 205 Rolling Meadows, IL 60008

Re:

Heritage Park Playground Improvements Proposed to be Financed Using Special

Recreation Levy

Dear Ms. Julison:

The Wheeling Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy to pay the cost of the following improvements at Heritage Park:

Replacement of outdated play equipment with a new play structure and installation of new accessible playground safety surface.

Park District staff has determined that the ADA portion of these improvements should be approximately 12% of the total cost. The total cost for the improvements was \$22,500. Of that total, \$2,672.00 was determined to be the cost for the accessible portion of the playground. These improvements were completed in September, 2006. The benefits of this project to NWSRA are as follows:

Provides an accessible playground surface to the play elements

The Wheeling Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 465-2935.

Sincerely,

Jan Buchs

**Executive Director** 

### RIVER TRAILS

PARK DISTRICT

ADMINISTRATIVE OFFICE 401 East Camp McDonald Road, Prospect Heights, Illinois 60070 Phone: (847) 788-0551 Fax: (847) 788-1248 E-Mail: admin@rtpd.org



MARVIN S. WEISS COMMUNITY CENTER
1500 East Euclid Avenue, Mount Prospect, Illinois 60056
Phone: (847) 255-1200 Fax: (847) 255-1285
E-Mail: info@rtpd.org

Ms. Susie K. Julison
Executive Director
Northwest Special Recreation Association
3000 Central Road, Suite 205
Rolling Meadows, IL 60008

August 30, 2006

Dear Susie:

The River Trails Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy to pay for the cost of the following improvements:

- Two Handicap Accessible 14 passenger Paratransit shuttle buses (Each has two places for wheelchairs)

The River Trails Park District is requesting a total expenditure not to exceed \$90,000 for the purchase of these two buses. We believe that it will enhance River Trails Park District's inclusion opportunities for trips and other programs as well as NWSRA's transportation options.

The River Trails Park District respectfully asks that you review this request and present it at the most convenient meeting. If you need additional information, please feel free to contact me at (847) 788-0551.

Thank you for your time.

Very truly yours,

Debbie Carlson
Executive Director



### PROSPECT HEIGHTS PARK DISTRICT

Phone: (847) 394-2848

Fax: (847) 394-7799

110 W. Camp McDonald Road • Prospect Heights, Illinois 60070

August 14, 2006

Ms. Susie K. Julison **Executive Director** Northwest Special Recreation Association 3000 Central Road, Suite 205 Rolling Meadows, IL 60008

Re: Improvements Proposed to be Financed Using Special Recreation Levy

Dear Ms. Julison:

The Prospect Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the following improvement:

### ACCESSIBLE PATHWAY LEADING TO KIWANIS PARK PLAYGROUND

The estimated cost of the improvement from the special recreation levy is \$3,800. The improvement is expected to be substantially complete by the conclusion of 2006. Anticipated benefits of the project to NWSRA are as follows:

### TO PROVIDE ACCESSIBILITY TO A NEW PLAYGROUND

The District respectfully requests that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me.

Very truly yours,

Kathy Nowicki

**Executive Director** 

Copy to

**Board of Park Commissioners** 

gery Naurchi

Buffalo Grove

Buffalo Grove

Park District

July 17, 2006

Ms. Susie K. Julison Executive Director Northwest Special Recreation Association 3000 W. Central Road #205 Rolling Meadows, IL 60008

Re: Improvements Proposed to be Financed Using Special Recreation Levy

Dear Ms. Julison:

The Buffalo Grove Park District hereby requests approval of the NWSRA Board of Directors for the proposed expenditures of funds from the District's Special Recreation Levy to pay for the ADA improvements for playgrounds at the following locations, Alcott, Children's, Ivy, and Nicole/Site 21 Park Sites.

In addition we are planning to complete an accessibility assessment of forty-seven park sites and facilities for \$56,254 as well as an assessment of District policies, practices and procedures by the National Accessibility Center for \$25,070. These two projects will be started this fiscal year and completed in fiscal year 2007/08.

I have enclosed an attachment itemizing ADA improvements at each site. Also enclosed is a quotation for two Freemotion pieces of strength equipment at \$4,495.00 each plus shipping for our Fitness Center.

The total cost for the improvements will be \$257,997.00 which will be completed during the 2006-07 fiscal year.

Buffalo Grove Park District respectfully requests that you review this proposal and present it with your approving recommendation to the NWSRA Board of Directors.

If you have any questions or require additional information, please do not hesitate to contact me at 847-850-2110.

Sincerely,

Michael Rylko Executive Director

530 Bernard Drive • Buffalo Grove, Illinois 60089-3351

Phone (847) 850-2100 • Fax (847) 459-5741



### N30 W22377 Green Rd Suite E Waukesha, WI 53186 PHONE: (262) 524-0700

FAX: (262) 524-0800

www.wellspringfitness.com

### **Sales Quotation**

### Order Hotline Fax: (262) 521-2484

(262) 521-2484

	<u>/</u>			1	QUOTE 7	<b>#</b> :			<b>*</b>	
	This Fitnes	s Solution Prep	ared For:	Date:	01/25/0	6 Expira	tion Da	ite:	02/2	24/06
Com	pany: Buff	falo Grove Fitnes	s Center	Customer	r P.O.:					Drop Ship
Cont	act Person: Jase	on Busdeker		Payment	Terms:	50/50	▼			Exempt
Addr	ess 1: 601	W. Deerfield Pa	rkway	Requeste	d Delive	y Date:				
Addr	ess 2:			Account N	Manager:		Pat Duff	<b>/</b> ▼		<u>-</u>
City,	State, Zip: Buff	falo Grove, IL 60	089	Phone:	(262) 5	24-0700	ax: 262	2-524-080	10	· = ·
Phor	ne: 847.353.	.7515 Fax:	847.353.7530	email:	pduffy@v	vellspringfit				
EMA	dL: jbusdeker@b	gfitnesscenter.cc	om			<del></del>				
Qty	Manufacturer	Model	Description		{	List Pric	e U	nit Price		Price
12	StarTrac	7630	Pro Treadmill w/p	ersonal fai	ns	\$7,495.0	0 \$	4,750.00	\$	57,000.00
4_	StarTrac	6230	Etite Crosstrainers	s w/ Select	tfit	\$6,095.0		4,499.00	1 -	17,996.00
4	Wellspring	DISCOUNT	Elite Crosstrainer				\$	(400.00	1	(1,600.00)
1	StarTrac	Parts Depot	Treadmill Parts D	epot		\$2,375.2		1,450.00	<del>'</del>	1,450.00
			Includes: 2 decks		g belts.	· · · · · · · · · · · · · · · · · · ·	\$		\$	-
			1 motor control bo				\$		\$	-
			electronics, 1 fron	it roller, 1 t	rear rolle		\$		\$	-
7	StarTrac	Training	StarTrac certified			\$1,500.0		FREE	1	FREE
-	[		(Herrin, IL June 2				\$	_	\$	
			(Wellspring will pa		· *	\$400.00		FREE	<del>-</del>	FREE
2	Concept II	Model D	Indoor Rowing Ma				\$	1,200.00	\$	2,400.00
. 2	FREEMOTION	GZFM6024	DUAL STACK CA		SS	\$4,495.0		4,495.00		8,990.00
= "							\$		\$	-
	Preventive Mainter	nance Kit (Cost = \$	(48.95)		L		\$		\$	
		-					\$	-	\$	<del>-</del>
				T				Subtotal	+	86,236.00
			the 6th and 11th m		· .		<del></del>	Subtotal	1	-
	or to warranty exp		ction in the equipm	ent  -	Shippi	ng, Deliver			+	4,500.00
	•		strength equipmer	nt):				nd Total*	<del></del>	90,736.00
				,					<del></del>	-
Fran		Uphol:	stery: nd installation = 5.5	-0/	Exa	mple of a 4-	yr lease	e paymen	t \$	2,398.15
Ç011	andres. Jill	ирпіў, ценувгу, а	no installation - 5.5	7/0						
Cust	tomer Acceptance	): 		<u>.                                    </u>		Da	ate:	<u>.</u> _		
	ount Manager Sig									,
****	*****	******	**************************************	onditions*	******	*****	*****	*****	****	***
1	les taxes will be a	dded to all orders.	Please provide exem	nption certif	icate, if ap	oplicable.				

e reserve the right to charge a 15% re-stocking fee on cancelled orders. Allow 4-12 week lead time if not in stock.

- Orders warehoused for more than 1 month past the delivery date requested at time of order placement must be paid in full and are

subject to storage fees.
- COMMERCIAL TREADMILLS REQUIRE A NEMA 5-20P OUTLET AND A DEDICATED CIRCUIT!

### 2006 Projects Involving ADA Accessibility

PROJECT DESCRIPTION	CALCULATION	COST ESTIMATE
Childrens Park Playground		
1) 2 - 5 Year Playground Equipment Replacement	Equipment \$25,000.00 x 15 %	\$3,750.00
2) Safety Surface Poured - in - Place Rubber (2560 sq. ft.)	Lump Sum	\$29,440.00
3) 5 - 12 Year Playground Equipment Replacement	Equipment \$40,000.00 x 15 %	\$6,000.00
4) Safety Surface Poured - in - Place Rubber (3475 sq. ft.)	Lump Sum	\$39,965.00
Ivy Park Playground		
1) 5 - 12 Year Playground Equipment Replacement	Equipment \$40,000.00 × 15 %	\$6,000.00
2) Safety Surface Poured - in - Place Rubber (3600 sq. ft.)	Lump Sum	\$41,400.00
Nicole Park Site 21 Playdround		
1) Safety Surface Poured - in - Place Rubber (4150 sq. ft.)	Lump Sum	\$40,659.00
All Park Sites		
1) Accessibility Assessment (47 Park Sites)	Lump Sum Proposed	\$56,254.00
2) Assessment of Policies, Practices & Procedures	Lump Sum Proposed	\$25,070.00

П		]
	\$9,459.00	
	Lump Sum	
Fitness Equipment	1) Two Freemotion Model# GZFM6024 Dual Stack Cable Cross	



7/12/06

Susie K. Julison
Executive Director
Northwest Special Recreation Association
3000 Central Road – Suite 205
Rolling Meadows, IL 60008

Re: Proposed Purchase to be Financed using Special Recreation Levy

Dear Ms. Julison:

The Bartlett Park District hereby notifies and requests approval of the NWSRA Board of Directors for the proposed expenditure of funds from the District's special recreation levy, to pay for the cost of the following:

Solo Rider Golf Cart

The actual cost of this improvement from the special recreation levy is \$8590. This improvement was completed on June 30, 2006. The benefit of this project to NWSRA is as follows:

Provide accessibility to the golf course for program participants.

Bartlett Park District respectfully requests that you review this proposal and present it with your approving recommendations to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me.

Sincerely,

Rita Fletcher

**Executive Director** 



**Board of Commissioners** 

Drew O. Burbidge
Shirley Eichaker
Donald Granell
Cliff Hall
Wayne Pemberton
Michael Reiss
Ilene Wiesenmayer
Director of Parks & Recreation
Kevin W. Lotzer

www.saltcreekpd.com

May 15, 2006

Ms. Susie Julison
Executive Director
Northwest Special Recreation Association
3000 Central Road, Suite 205
Rolling Meadows, IL 60008

Dear Susie:

The Salt Creek Rural Park District hereby requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy to pay the costs of the following projects:

Playground chips for Twin Lakes = \$8,500 \*Dasserboard glass panels for Hat Trick Hockey = \$10,750 Total Cost: \$19,250

\*The glass boards are 106" tall and will allow wheelchair viewing along the entire spectator side of the rink. This area previously had standard dasserboards that did not allow for viewing from a wheelchair.

The district respectfully requests that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me.

Sincerely,

Kevin W. Lotzer

Director of Parks & Recreation



### Mt. Prospect Park District

Serving Portions of Mt. Prospect • Des Plaines • Arlington Heights • Elk Grove Village

www.mppd.org

### **ADMINISTRATIVE OFFICES**

(847)255-5380

Fax (847)255-1438

1000 W. Central Road

Mt. Prospect, IL 60056

May 1, 2006

Susie K. Julison

**Executive Director** 

CENTRAL

### COMMUNITY CENTER

(847)255-5380

Fax (847)392-5726

1000 W. Central Road

1000 W. Gential Ruau

Mt. Prospect, IL 60056

RECPLEX

(847)640-1000

Fax (847)364-2824

420 W. Dempster Street

Mt. Prospect, IL 60056

Re:

Lions Memorial Park Improvements Proposed To Be Financed Using

Special Recreation Levy

Northwest Special Recreation Association

3000 Central Road - Suite 205

Rolling Meadows, IL 60008

### LIONS

### RECREATION CENTER

(847)632-9333

Fax (847)632-9325

411 S. Maple Street

Mt. Prospect, IL 60056

### FRIENDSHIP PARK CONSERVATORY

(847)298-3500

Fax (847)296-2053

395 Algonquin Road

Des Plaines, IL 60018

### MT. PROSPECT GOLF CLUB

(847) 259-4200

Fax (847)632-9334

600 See-Gwun

Mt. Prospect, IL 60056

### **GOLF COURSE GARAGE**

(847)632-9330

Fax (847)342-9113

600 See-Gwun

Mt. Prospect, IL 60056

### LIONS GARAGE

(847)632-9320

Fax (847)255-8349

411 S. Maple Street

Mt. Prospect, IL 60056

### Dear Ms. Julison:

The Mt. Prospect Park District hereby notifies and requests approval of the NWSRA Board of Director for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Lions Memorial Park.

See Attachment 'A".

Note: Where the cost of accessible paths are used to calculate their worth, only three feet (3') of width is calculated, regardless of the actual path width.

The total estimated cost of the improvements including consultants, is 1,275.00. Of that total, \$765.00 is estimated to be the cost for accessible improvements. These improvements are scheduled to be completed by September 2006. The benefits of this project to NWSRA are as follows:

- Connects accessible paths throughout the park.
- Completes accessible paths from the main parking lot to the Memorial Bandshell.
- Provides accessible paths from adjacent neighborhoods to the Park.

The Mt. Prospect Park District respectfully requests that you review this proposal and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 255-5380.

Very truly yours,

MT. PROSPECT PARK DISTRICT

Louis J. Ennesser, Jr. RLA Director of Parks & Planning Mt. Prospect Park District

Cc w/Attachments

Walter L. Cook

Chief Executive Officer Mt. Prospect Park District

Sharon Anderson Director of Recreation Mt. Prospect Park District ATTA ENT 'A'

### MT. PROSPECT PARK DISTRICT

## LIONS MEMORIAL PARK IMPROVEMENTS TO BE FINANCED USING SPECIAL RECREATION LEVY

COST SUMMARY MAY 1, 2006

Ĺ		ESTIMATED COST		ACTUAL COST	OST
	DESCRIPTION	CALCULATION	COST	CALCULATION	COST
<u> </u>	1 Concrete Walk (Right of Way)	150 LF x 3' Wide =450 SF @ \$1.70	\$765.00		
L.			-		
L				,	
		Total - Lions Memorial Park Improvements	\$765.00		
_					
	TOTAL AMOUNT REQUESTED		\$765.00		



April 17, 2006

Ms. Susie Julison Executive Director Northwest Special Recreation Association 3000 Central Road, Suite 205 Rolling Meadows, IL 60008

RE: ADA Improvements to be financed by the Special Recreation Levy

### Dear Director Julison:

Enclosed you will find six different requests from the Arlington Heights Park District for approval by the NWSRA Board of Directors for the proposed expenditure of funds derived from the special recreation tax levy. All of these projects are identified in the Arlington Heights Park District's FY 06/07 Capital Improvement Plan.

These are the estimated cost of these projects and these improvements are expected to be substantially complete by December 1, 2006. If you have any questions or require additional information, please contact me.

Sincerely

Røger Key, Executive Director Arlington Heights Park District

xc: Arlington Heights Park District Board of Commissioners



Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road – Suite 205 Rolling Meadows, IL 60008

Re: Dryden Park Playground Improvements Proposed to be Financed using Special Recreation Levy

Dear Ms. Julison:

The Arlington Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Dryden Park:

Remove and replace the existing playground with new accessible equipment, surfacing and entry walk.

From similar past projects, Park District staff has estimated that the ADA portion of this improvement should be approximately 22.5% of the total cost. The total cost for the improvement is \$62,000.00. Of that total, the estimate of \$14,000.00 was determined to be the cost for the accessible portion of this playground. This improvement will be completed by early fall, 2006. The benefits of this project to NWSRA are as follows:

- Provides an accessible path up to and into the playground
- Provides accessible play activities
- Enables all children to interact and play
- Enables all children to learn social skills

The Arlington Heights Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 506-7144.

Since<u>rel</u>y,

Scott Elman

Park Planner II

Arlington Heights Park District

410 North Arlington Heights Road / Arlington Heights, Illinois 60004 1-847-577-3000 / Fax: 1-847-577-3050 / www.ahpd.org Three-Time Gold Medal Award Winner 1983 1992 2001



Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road – Suite 205 Rolling Meadows, IL 60008

Re: Recreation Park Pool Deck Improvements Proposed to be Financed Using Special Recreation Levy

Dear Ms. Julison:

The Arlington Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Recreation Park:

Remove existing concrete pool deck and replace with new concrete.

The total cost for the improvements was \$245,000.00. Of that total, \$20,000.00 was determined to be the cost for the accessible portion of the pool deck. The improvements to the pool deck resulted from our study of accessibility created by the National Center on Accessibility. These improvements will be completed in the fall, 2006. The benefits of this project to NWSRA are as follows:

- Provides accessible routes throughout the pool area and existing bath house
- Provides an accessible route to the pool

The Arlington Heights Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 506-7144.

Sincerely

Scott Elman Park Planner II

Arlington Heights Park District



Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road – Suite 205 Rolling Meadows, IL 60008

Re: Lake Arlington Pathway Improvements Proposed to be Financed using Special Recreation Levy

Dear Ms. Julison:

The Arlington Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Lake Arlington:

The existing 10' wide asphalt walking path was over-laid with new asphalt, 10' wide by 8,840' long.

The estimated cost for the improvement is \$248,500.00. Of that total, \$76,800.00 was estimated as the cost for the accessible portion of the walking path. Park District staff has determined that up to 3' of the 10' total width of the path (approx. 30%) should be acceptable as the amount requested. These improvements will be completed in early summer, 2006. The benefits of this project to NWSRA are as follows:

- Provides an accessible path throughout the park
- Provides a smooth surface condition for easier use
- Provides an accessible path to the various site amenities
- Extra width of path provides for two-way pedestrian traffic and the opportunity for a wheelchair to turn around easily

The Arlington Heights Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 506-7144.

Sincerely,

Scott Elman Park Planner II

Arlington Heights Park District

410 North Arlington Heights Road / Arlington Heights, Illinois 60004 1-847-577-3000 / Fax: 1-847-577-3050 / www.ahpd.org

Three-Time Gold Medal Award Winner 1983 1992 2001



Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road – Suite 205 Rolling Meadows, IL 60008

Re: Melas Park Pathway Extension Proposed to be Financed using Special Recreation Levy

Dear Ms. Julison:

The Arlington Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Melas Park:

Extend a 9' wide by 75' long asphalt walking path to the existing soccer field.

The total cost for the improvement was \$2,972.40. Park District staff has determined that 100% of the cost should be acceptable as the amount requested. This improvement was completed in 2005. The benefits of this project to NWSRA are as follows:

- Provides an accessible path to the existing soccer field
- Provides an area to watch matches
- Extra width of path provides for two-way pedestrian traffic and the opportunity for a wheelchair to turn around easily

The Arlington Heights Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 506-7144.

Sincerely

Scott Elman
Park Planner II

Arlington Heights Park District



Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road – Suite 205 Rolling Meadows, IL 60008

Re: Scarsdale Park Playground Improvements Proposed to be Financed using Special Recreation Levy

Dear Ms. Julison:

The Arlington Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Scarsdale Park:

Remove and replace the existing playground with new accessible equipment, surfacing and entry walk.

From similar past projects, Park District staff has estimated that the ADA portion of this improvement should be approximately 22.5% of the total cost. The total cost for the improvement is \$67,000.00. Of that total, the estimate of \$15,500.00 was determined to be the cost for the accessible portion of this playground. This improvement will be completed by early fall, 2006. The benefits of this project to NWSRA are as follows:

- Provides an accessible path up to and into the playground
- Provides accessible play activities
- Enables all children to interact and play
- Enables all children to learn social skills

The Arlington Heights Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 506-7144.

Sincerely.

acoa Elman

Park Planner II

Arlington Heights Park District

410 North Arlington Heights Road / Arlington Heights, Illinois 60004 1-847-577-3000 / Fax: 1-847-577-3050 / www.ahpd.org

Three-Time Gold Medal Award Winner 1983 1992 2001



Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road – Suite 205 Rolling Meadows, IL 60008

Re: Sunset Meadows Park Improvements Proposed to be Financed using Special Recreation Levy

Dear Ms. Julison:

The Arlington Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Sunset Meadows Park:

Park improvements include a new playground, new sidewalks to the athletic fields and improvements to the existing parking lot.

The estimated cost for the improvements is \$964,750.00. Of that total, \$46,250.00 was estimated as the cost for the accessible portions of the playground, sidewalks to the athletic fields and the parking lot. From similar past projects, Park District staff has estimated that the ADA portion of the playground improvements should be approximately 22.5% of the total cost. Park District staff has also determined that 100% of the cost of the sidewalk leading up to the athletic fields should be acceptable as well as the costs for curb cuts and the ADA accessible parking spots in the parking lot. These improvements will be completed in late summer, 2006. The benefits of this project to NWSRA are as follows:

- Provides an accessible path up to and into the new playground
- Provides accessible play activities
- Enables all children to interact and play
- Enables all children to learn social skills
- Provides an accessible path to the new athletic fields
- Provides a smooth surface condition for easier use
- Provides an area to watch games and the opportunity for a wheelchair to turn around easily
- Provides accessible parking for park usage
- Provides an accessible route to the park amenities

The Arlington Heights Park District respectfully asks that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 506-7144.

Sincerely,

Park Planner II

Arlington Heights Park District



### Mt. Prospect Park District

Serving Portions of Mt. Prospect • Des Plaines • Arlington Heights • Elk Grove Village

www.mppd.org

### **ADMINISTRATIVE OFFICES**

(847)255-5380

Fax (847)255-1438

1000 W. Central Road

Mt. Prospect, IL 60056

April 5, 2006

### CENTRAL COMMUNITY CENTER

(847)255-5380

Fax (847)392-5726

1000 W. Central Road

Mt. Prospect, IL 60056

**Executive Director** 

Susie K. Julison

Northwest Special Recreation Association

3000 Central Road - Suite 205

Rolling Meadows, IL 60008

RECPLEX

(847)640-1000 Fax (847)364-2824

420 W. Dempster Street

Mt. Prospect, IL 60056

Re:

Lions Memorial Park Parking Improvements Proposed To Be Financed

Using Special Recreation Levy

### LIONS

RECREATION CENTER

(847)632-9333

Fax (847)632-9325

411 S. Maple Street

Mt. Prospect, IL 60056

FRIENDSHIP PARK

CONSERVATORY

(847)298-3500

### Dear Ms. Julison:

The Mt. Prospect Park District hereby notifies and requests approval of the NWSRA Board of Director for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Lions Memorial Park.

See Attachment 'A".

### 395 Algonquin Road

Fax (847)296-2053

Des Plaines, IL 60018

The total estimated cost of the improvements including consultants, is \$85,318.00. Of that total, \$3,675.00 is estimated to be the cost for accessible improvements. These improvements are scheduled to be completed by August 2006. benefits of this project to NWSRA are as follows:

Provides accessible paving and paths from the parking lot to Lions Recreation Center and Big Surf Pool.

### MT. PROSPECT GOLF CLUB

(847)259-4200

Fax (847)632-9334

600 See-Gwun

Mt. Prospect, IL 60056

### **GOLF COURSE GARAGE**

(847)632-9330

Fax (847)342-9113

600 See-Gwun

Mt. Prospect, IL 60056

### LIONS GARAGE

(847)632-9320

Fax (847)255-8349

411 S. Maple Street

Mt. Prospect, IL 60056

The Mt. Prospect Park District respectfully requests that you review this proposal and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 255-5380.

Very truly yours,

MT. PROSPECT PARK DISTRICT

Louis J. Ennesser, Jr. RLA Director of Parks & Planning Mt. Prospect Park District

Cc w/Attachments

Walter L. Cook

Chief Executive Officer Mt. Prospect Park District

Sharon Anderson Director of Recreation Mt. Prospect Park District ATTA BATTA

MT. PROSPECT PARK DISTRICT

# LIONS MEMORIAL PARK PARKING LOT IMPROVEMENTS TO BE FINANCED USING SPECIAL RECREATION LEVY

COST SUMMARY APRIL 5, 2006

	's may s yant s' saut s' saut s' part s' part 	ESTIMATED COST	COST	ACTUAL COST	ST
	DESCRIPTION	CALCULATION	COST	CALCULATION	COST
}-	Bituminous Removal Cold Milling, 2"	75 SY @ \$1.75	\$131.25		
7	Bituminous Concrete Surface Course, 2"	9 TONS @ \$55.50	\$499.50		
က	Area Reflective Crack Control	75 SY @ \$1.00	\$75.00		
4	Combination Concrete Curb & Gutter, Removal	40 LF @ \$5.00	\$200.00		
5	Combination Concrete Curb & Gutter, B6.12	40 LF @ \$20.00	\$800.00		
ဖ	Thermoplastic Pavement Markings, 4"	340 LF @\$0.80	\$272.00		
-	Thermoplastic Pavement Markings, 6"	145 LF @ \$1.50	\$217.50		
0	Thermoplastic Pavement Markings, 12"	335 LF @ \$2.75	\$921.25		
ြ	Thermoplastic Pavement Markings, Symbols	4 EA @ \$75.00	\$300.00		
					1-277
		Estimated Cost	\$3,417.00		
		NOTE: \$3,417.00 (ADA Improvement Costs) + \$79,318.00 (Total Construction Cost Estimate) = 4.3% of Project Funds Allocated for ADA Improvements.			
	Civil Engineer	\$6,000.00 (Consultant Fee) x .043 (4.3%)	\$258.00		
		Sub-Total - Consultants	\$258.00		
		Total - Lions Memorial Park Parking Lot Improvements	\$3,675.00		
L.					
	TOTAL AMOUNT REQUESTED		\$3,675.00		



### JKL CONSULTING CIVIL ENGINEERS LTD.

834 E. RAND ROAD, SUITE 13 MT. PROSPECT, IL 60056 (847) 870-9742 FAX (847) 870-9743

### ATTACHMENT 'A'

The following is a list of items that are associated with the handicap accessibility of the Lions Park Parking Lot Improvements

ITEM	DESCRIPTION	UNIT	QUANTITY	CHICAGOLAND UNIT PRICE	CHICAGOLAND SUB-TOTAL
	Bituminous Removal Cold Milling, 2"	SY	75	\$1.75	\$131.25
	Bituminous Concrete Surface Course, 2"	TONS	9	\$55.50	\$499.50
4	Area Reflective Crack Control	SY	75	\$1.00	\$75.00
6	Combination Concrete Curb & Gutter, Removal	LF	40	\$5.00	\$200.00
7	Combination Concrete Curb & Gutter, B6.12	LF	40	\$20.00	\$800.00
13	Thermoplastic Pavement Markings, 4"	LF	340	\$0.80	\$272.00
14	Thermoplastic Pavement Markings, 6"	LF	145	\$1.50	\$217.50
15	Thermoplastic Pavement Markings, 12"	LF	335	\$2.75	\$921.25
16	Thermoplastic Pavement Markings, Symbols	EACH	4	\$75.00	\$300.00

**TOTAL** 

\$3,416.50



### PROSPECT HEIGHTS PARK DISTRICT

Phone: (847) 394-2848

Fax: (847) 394-7799

110 W. Camp McDonald Road • Prospect Heights, Illinois 60070

March 27, 2006

Ms. Susie K. Julison
Executive Director
Northwest Special Recreation Association
3000 Central Road, Suite 205
Rolling Meadows, IL 60008

Re: Improvements Proposed to be Financed Using Special Recreation Levy

Dear Ms. Julison:

The Prospect Heights Park District hereby notifies and requests approval of the NWSRA Board of Directors for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the following improvement:

### 15-PASSENGER BUS WITH ACCESSIBLE LIFT

The estimated cost of the improvement from the special recreation levy is \$30,000. The improvement is expected to be substantially complete by May 15, 2006. Anticipated benefits of the project to NWSRA are as follows:

### TO PROVIDE ACCESSIBLE TRANSPORTATION FOR PROGRAM PARTICIPANTS

The District respectfully requests that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me.

Very truly yours,

Kathy Nowicki

**Executive Director** 

Copy to

**Board of Park Commissioners** 



March 23, 2006

Ms. Susie K. Julison, Executive Director Northwest Special Recreation Association 3000 W. Central Road #205 Rolling Meadows IL 60008

Dear Ms. Julison:

Re: Improvements Proposed to be Financed Using Special Recreation Levy

Schaumburg Park District hereby notifies and requests approval of the NWSRA Board of Directors for the proposed expenditures of funds from the District's Special Recreation Levy to pay for the cost of the ADA improvements at playgrounds located at Abrahamsen, Kingsport Lake, McLemore and Old Nantucket Parks. I have enclosed Attachment A that itemizes the ADA improvements in each of these playgrounds. The total is \$168,034.86. These improvements have been completed as of August 31, 2005. The benefits of this project to NWSRA are as follows:

- Provides accessibility to the playgrounds
- Provides accessibility to individual play events

Schaumburg Park District respectfully requests that you review this proposal and present it with your approving recommendations to the NWSRA Board of Directors. If you have any additional questions or need any additional information, please do not hesitate to contact me.

Sincerely,

SCHAUMBURG PARK DISTRICT

Jean Schlike Jean Schlinkmann, CPRP

**Executive Director** 

## ATTAC WENTA

# 2005 Playground Projects - Park Improvements Involving ADA

Accessibility Schaumburg Park District

Date: December 15th, 2005

ESTIMATED COST	Calculation	
DESCRIPTION		

ARDAHAMGEN PARK		
ADKALLAMBER A ABANA		
1) Commete (Concrete Denreced Curhing (6 [ E))	lump sum	\$290.00
	3'x 20'	\$195.00
2) Safety Surfacing (Tile Surfacing (1350 SF))	lump sum	\$23,179.50
3) Sairety Suntacing (The Surracing (1500 St.)) 4) Discreteined Henrichest Provision/Installation *	1 each @ 43,363.00 x .82 (82%)	\$35,557.66
4) I Idygiodina Lydinain i Lovaina mounicio.	1 each @ 4,853.00 x .5 (50%)	\$2,426.50
2) + Owing Ocal (1 WO ocals accessors)		

MINUST ONI LAME I AKIN		
1) Concrete (Concrete Depressed Carbing (54 LF))	mns duni	\$1,178.00
2) Safety Surfacing (Tile Surfacing (1250 SF))	mns dunl	\$21,569.80
3) Playeround Fauinment Provision/Installation *	1 each @ 35,052.00 x .4 (40%)	\$14,020.80
4) 4 Swing Seat (Two seats accessible)	1 each @ 3,102.00 x 5 (50%)	\$1,551.00

DESCRIPTION	ESTIMATED COST	COST
	Calculation	Cost
MCLEMORE PARK		
1) Concrete (Concrete Denressed Curbing (6 LF))	lump sum	\$290.00
2) Safety Surfacino (Tile Surfacino (1305 SF))	mns duni	\$22,459.00
3) Plavoround Equipment Provision/Installation *	1 each @ 44,447.00 x .2 (20%)	\$8,889.10
4) 4 Swing Seat (Both seats accessible)	1 each @ 4,853.00 x .5 (50%)	\$2,426.50

1) Concrete (Concrete Depressed Curbing (6 LF))       1 lump sum       \$290.00         2) Safety Surfacing (File Surfacing under both seats)       1 each @ 24,554.00 x .6 (60%)       \$17,598.60         3) Playground Equipment Provision/Installation *       1 each @ 24,554.00 x .6 (60%)       \$14,732.40         4) 2 Swing Seat (Tile Surfacing under both seats)       1 each @ 1,381.00 x 1 (100%)       \$1,381.00	OLDE NANTUCKET PARK		
)) lump sum lump sum 1 each @ 24,554.00 x .6 (60%) 1 each @ 1,381.00 x 1 (100%)			
lump sum 1 each @ 24,554.00 x .6 (60%) 1 each @ 1,381.00 x 1 (100%)	1) Concrete (Concrete Denressed Curbing (6 LF))	tuns duni	\$290.00
* 1 each @ 24,554.00 x .6 (60%) 1 each @ 1,381.00 x 1 (100%)		lump sum	\$17,598.60
1 each @ 1,381.00 x 1 (100%)	2) Disversing Equipment Provision/Installation *	1 each @ 24,554.00 x .6 (60%)	\$14,732.40
	1) I talground Legitlymont i for most consistent of the Surfacing under hoth seats)	1 each @ 1,381.00 x 1 (100%)	\$1,381.00
	4) 2 DWING OVER (AMY DESTRUCTED COME OF THE PROPERTY OF THE PR		

Project Totals Involving All ADA Accessible Improvements:

\* Per manufacturer

\$168,034.86



1919 Walnut Avenue Hanover Park, Illinois 60133

Member Illinois Association of Park Districts

February 17, 2006

Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road – Suite 205 Rolling Meadows, IL 60008

Re: Actual expenditures for approved ADA improvements

Dear Ms. Julison:

The following is an itemized list of the services and actual costs incurred for ADA improvements to the Hanover Park Park Districts Community Center. This work was approved by NWSRA on September 26, 2005 for the estimated amount of \$35,000.

Automatic Doors Incorporated	\$17759.00
Wood Dale Electric Company	\$ 7810.00
Action Lock and Key	<u>\$ 2973.60</u>
Total:	\$28542.60

If you need any additional information please feel free to contact me.

Sincerely,

Mark Pentecost

Mah Ride

Superintendent of Parks

Hanover Park Park District

630-837-2468 ext.117



### Mt. Prospect Park District

Serving Portions of Mt. Prospect • Des Plaines • Arlington Heights • Blk Grove Village

www.mppd.org

### **ADMINISTRATIVE OFFICES**

(847)255-5380 Fax (847)255-1438 1000 W. Central Road

February 3, 2006

### CENTRAL COMMUNITY CENTER

Mt. Prospect, IL 60056

(847)255-5380 Fax (847)392-5726 1000 W. Central Road Mt. Prospect, IL 60056 Susie K. Julison
Executive Director
Northwest Special Recreation Association
3000 Central Road - Suite 205
Rolling Meadows, IL 60008

### RECPLEX

(847)640-1000 Fax (847)364-2824 420 W. Dempster Street Mt. Prospect, IL 60056 Re: Sunset Park Improvements Proposed To Be Financed Using Special Recreation Levy

### LIONS RECREATION CENTER

(847)632-9333 Fax (847)632-9325 411 S. Maple Street Mt. Prospect, IL 60056

### Dear Ms. Julison:

The Mt. Prospect Park District hereby notifies and requests approval of the NWSRA Board of Director for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Sunset Park.

See Attachment 'A".

Note: Where the cost of accessible paths are used to calculate their worth, only three feet (3') of width is calculated, regardless of the actual path width.

### FRIENDSHIP PARK CONSERVATORY

(847)298-3500 Fax (847)296-2053 395 Algonquin Road Des Plaines, IL 60018

The total estimated cost of the improvements including consultants, is \$175,339.00. Of that total, \$106,141.00 is estimated to be the cost for accessible improvements. These improvements are scheduled to be completed by August 2006. The benefits of this project to NWSRA are as follows:

### MT. PROSPECT GOLF CLUB

(847)259-4200 Fax (847)632-9334 600 See-Gwun

Mt. Prospect, IL 60056

Provides accessible paths throughout the park.

Provides accessible paths to and into the new playground, ballfields and other site amenities.
Provides accessible play to 80% of the older kids play structure and 100%

of the younger kids play structure and all independent play equipment.

Provides accessible paths from adjacent neighborhoods to the Park.

### GOLF COURSE GARAGE

(847)632-9330 Fax (847)342-9113 600 See-Gwun

Mt. Prospect, IL 60056

### LIONS GARAGE

(847)632-9320 Fax (847)255-8349 411 S. Maple Street Mt. Prospect, IL 60056 The Mt. Prospect Park District respectfully requests that you review this proposal and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 255-5380.

Very truly yours,

MT. PROSPECT PARK DISTRICT

Louis J. Ennesser, Jr. RLA Director of Parks & Planning Mt. Prospect Park District

Cc w/Attachments

Walter L. Cook

Chief Executive Officer Mt. Prospect Park District

Sharon Anderson Director of Recreation Mt. Prospect Park District ATTAL ENT 'A'

MT. PROSPECT PARK DÎSTRICT

SUNSET PARK IMPROVEMENTS TO BE FINANCED USING SPECIAL RECREATION LEVY **COST SUMMARY** 

FEBRUARY 3, 2006

		ESTIMATED COST	1T303	ACTUAL COST	)ST
	DESCRIPTION	CALCULATION	COST	CALCULATION	COST
	Engineered Wood Fibre Playground Surfacing	290 SY @ \$26.00	\$7,540.00		
2	3' Wide Integral Concrete Curb/Walk around Perimeter of Play Area	1176 SF @ \$12.00	\$14,112.00		
60	"Younger Kids" Play Structure	1 EA @ \$14,781 x 1 (100%) See Attachment 'B'.	\$14,781.00		
4	" Older Kids" Play Structure	1 EA @ \$56.728 x .81 (81%) See attachment 'B'.	\$45,950.00		
5	6 Seat Swing	1 EA @ \$3,798 x 1 (100%) See Attachment 'B'.	\$3,798.00		
ω	4 Seat See-Saw	1 EA @\$3,035 x 1 (100%) See attachment 'B'.	\$3,035.00		
<u>~</u>	Fire Engine Swing Toy	1 EA @\$1,397 x 1 (100%) See attachment 'B'.	\$1,397.00		
ω ,	Rhino Dino Spring Toy	1 EA @\$948 x 1 (100%) See attachment 'B'.	\$948.00		
6	Asphalt Walk	946 LF x 3' wide = 2838 SF ÷ 9 = 315 SY @ 20.00	\$6,300.00	·	
5	Concrete Walk (On-Site))	150 LF x 3' Wide = 450 SF @ \$5.00	\$2,250.00		
11	Concrete Walk (Right of Way)	75 LF x 3' Wide = 225 SF @ \$5.00	\$1,125.00		
		Sub-Total - Construction	\$101,236.00		

ATTAL ENT 'A'

## MT. PROSPECT PARK DISTRICT

## SUNSET PARK IMPROVEMENTS TO BE FINANCED USING SPECIAL RECREATION LEVY **COST SUMMARY**

### FEBRUARY 3, 2006

	FSTIMATED COST	Lost	ACTUAL COST	OST
DESCRIPTION	CALCULATION	COST	CALCULATION	COST
	NOTE:			
	\$101,236.00 ( ADA			
	Improvement Costs) +			
	\$175,339.00 (Total			
	Construction Cost			
	Estimate) = 57.7% of			
	Project Funds Allocated for			
	ADA Improvements.			
	\$8,500.00 (Consultant	\$4 00E 00		
Civil Engineer	Fee) x .577 (57.7%)	44,600.00		
	Sub-Total - Consultants	\$4,905.00		
	Total - Sunset Park	\$106 141 00		
	Improvements	00:14:00		
TOTAL AMOUNT REQUESTED		\$106,141.00		



Box 2121 LaGrange, IL 60525 708–579–9055 1–800–526–6197 708–579–0109 (fax) play@nutoys4fun.com www.nutoys4fun.com

December 19, 2005

Lou Ennesser
Mt. Prospect Park District
1000 W. Central Rd.
Mount Prospect, IL 60056

Re: Sunset Park

Dear Lou,

It was good talking with you about Sunset Park play equipment requirements. The play equipment has been designed to comply with current ADA standards.

Playground Equipment is 91% accessible (31 of 34 play events)

### Older Kids Area:

19 of the 22 play events are accessible Overall percentage = 86% Structure Only = 81% Independent Equipment = 100%

Elevated Events = 16
Accessible via Transfer = 13
Ground Level Events = 6

### Younger Kids Area:

12 of the 12 play events are accessible
Overall percentage = 100%
Structure Only = 100%
Independent Equipment = 100%

Elevated Events = 5
Accessible via Transfer = 5
Ground Level Events = 7



### Mt. Prospect Park District

Serving Portions of Mt. Prospect • Des Plaines • Arlington Heights • Elk Grove Village

www.mppd.org

### ADMINISTRATIVE OFFICES

(847)255-5380

Fax (847)255-1438

1000 W. Central Road

Mt. Prospect, IL 60056

### CENTRAL COMMUNITY CENTER

(847)255-5380

Fax (847)392-5726

1000 W. Central Road

Mt. Prospect, IL 60056

### RECPLEX

(847)640-1000

Fax (847)364-2824

420 W. Dempster Street

Mt. Prospect, IL 60056

### LIONS RECREATION CENTER

(847)632-9333

Fax (847)632-9325

411 S. Maple Street

Mt. Prospect, IL 60056

### FRIENDSHIP PARK CONSERVATORY

(847)298-3500

Fax (847)296-2053

395 Algonquin Road

Des Plaines, IL 60018

### MT. PROSPECT GOLF CLUB

(847) 259-4200

Fax (847)632-9334

600 See-Gwun

Mt. Prospect, IL 60056

### **GOLF COURSE GARAGE**

(847)632-9330

Fax (847)342-9113

600 See-Gwun

Mt. Prospect, IL 60056

### LIONS GARAGE

(847)632-9320

Fax (847)255-8349

411 S. Maple Street

Mt. Prospect, IL 60056

January 5, 2006

Susie K. Julison

Executive Director

Northwest Special Recreation Association

3000 Central Road - Suite 205

Rolling Meadows, IL 60008

Re:

Beau Drive Parking Lot Improvements Proposed To Be Financed Using Special

Recreation Levy

Dear Ms. Julison:

The Mt. Prospect Park District hereby notifies and requests approval of the NWSRA Board of Director for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the referenced improvements.

The total estimated cost of the improvements is \$94,112.50. Of that total, \$3028.00 is estimated to be the cost for accessible improvements. These improvements are scheduled to be completed by July 2006. The benefits of this project to NWSRA are as follows:

- Provides accessible parking within an existing park.
- Provides accessible paths to and from the parking lot and nearby recreational amenities. (Pedestrian / Bike Path, Baseball Field, Open Space)

The Mt. Prospect Park District respectfully requests that you review this proposal and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 255-5380.

Very truly yours,

MT. PROSPECT PARK DISTRICT

Louis J. Ennesser, Jr. RLA Director of Parks & Planning

Mt. Prospect Park District

Cc w/Attachments

Walter L. Cook

Chief Executive Officer

Mt. Prospect Park District

Sharon Anderson
Director of Recreation

Mt. Prospect Park District

ATTACK JINT 'A'

# BEAU DRIVE PARKING LOT IMPROVEMENTS TO BE FINANCED USING SPECIAL RECREATION LEVY MT. PROSPECT PARK DISTRICT

### **COST SUMMARY**

CALCULATION   COST   CALCULATION	Ĭ	لمل درست درست درست درست درست درست درست درست	FOUNDATION COST	OST.	ACTUAL COST	ST
Handicapped Parking Concrete Cuth & Gutter   20 LF @ \$12.00     Handicapped Parking Asphalt Surface Course   6 Tons @ \$44.00   \$264.00     Handicapped Parking Asphalt Binder Course   6 Tons @ \$43.00   \$558.00     Handicapped Parking Geotexting Fabric   67 SY @ \$1.00   \$603.00     Handicapped Parking Geotexting Fabric   67 SY @ \$100   \$603.00     Handicapped Parking Pavement Markings   1 LS @ \$64.00   \$603.00     Handicapped Parking Pavement Markings   1 LS @ \$64.00   \$604.00   \$604.00     Handicapped Parking Pavement Markings   1 LS @ \$64.00   \$604.00     Handicapped Parking Pavement Markings   1 LS @ \$64.00   \$604.00     Handicapped Parking Pavement Markings   3 of 5 Wide (60%)   \$52.941.00     MoTE:	_ ~ `	NOILaidosac	CALCULATION		CALCULATION	COST
Handicapped Parking Concrete Curb & Gutter   20 LF @ \$12.00     Handicapped Parking Asphalt Surface Course   6 Tons @ \$44.00   \$55     Handicapped Parking Asphalt Binder Course   6 Tons @ \$43.00   \$55     Handicapped Parking Geotexting Fabric   67 SY @ \$1.00     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55     Handicapped Parking Aggregate Base Course   67 SY @ \$1.00   \$55 SY & \$1.00   \$55	-{					
Handicapped Parking Asphalt Surface Course   6 Tons @ \$44.00   \$1     Handicapped Parking Asphalt Binder Course   6 Tons @ \$43.00   \$2     Handicapped Parking Geotexting Fabric   67 SY @ \$9.00   \$3     Handicapped Parking Aggregate Base Course   67 SY @ \$9.00   \$3     Handicapped Parking Aggregate Base Course   67 SY @ \$9.00   \$3     Handicapped Parking Pavement Markings   7 of SY @ \$9.00   \$3     Handicapped Parking Pavement Markings   7 of SY @ \$9.00   \$3     Concrete Walk   7 SY @ \$1.00   \$2     Sy Of Concrete Walk   7 SY @ \$1.00     Sy Of Concrete Walk   7 SY @ \$1.00     Sy Of Concrete Walk   7 SY @ \$1.00     Sy Of Constitution Cost Estimate)   2 SY   3 SY     Sy Of Constitution Cost Estimate)   3 SY	<del>-</del>	Handicapped Parking Concrete Curb & Gutter	20 LF @ \$12.00	\$240.00		
Handicapped Parking Asphalt Binder Course         6 Tons @ \$43.00         \$2.5           Handicapped Parking Geotexting Fabric         67 SY @ \$1.00         \$8           Handicapped Parking Pavement Markings         1 LS @ \$64.00         \$8           Handicapped Parking Pavement Markings         3' of 5' Wilde (60%)         \$8           Concrete Walk         \$2.55 SF x. 6 = 315 SF @         \$2.241.00           (ADA Improvement Costs) + \$94.118.00 (Total Construction Cost Estimate)         \$2.12% of Project Funds           Allocated for ADA Improvements         \$2.800.00 (Consultant Fee) x         \$3.12% of Project Funds           Allocated for ADA Improvements         \$2.800.00 (Consultant Fee) x         \$3.12% of Droject Funds           ADA Improvements         \$2.800.00 (Consultant Fee) x         \$3.200.70 (Consultant Fee) x           COVAL LAMOUNT REQUESTED         \$4.70 (Total - Beau Drive Parking Lot Improvements)         \$3.30	7	Handicapped Parking Asphalt Surface Course	6 Tons @ \$44.00	\$264.00		
Handicapped Parking Geotexting Fabric   67 SY @ \$1.00     Handicapped Parking Aggregate Base Course   67 SY @ \$2.00     Handicapped Parking Pavement Markings   1 LS @ \$64.00   \$5     Handicapped Parking Pavement Markings   3' of 5' Wirde (60%)   \$2     Concrete Walk   3' of 5' Wirde (60%)   \$2     Concrete Walk   3' 0 Of 5' Wirde (60%)   \$2     Sa.00   (ADA Improvement Costs) + \$2     Sa.00   (ADA Improvement Fee) x     Sa.00   Sa.00   (Consultant Fee) x     Sa.00   Sa.00	60	Handicapped Parking Asphalt Binder Course	6 Tons @ \$43.00	\$258.00		
Handicapped Parking Aggregate Base Course	4	Handicapped Parking Geotexting Fabric	67 SY @ \$1.00	\$67.00		
Handicapped Parking Pavement Markings	7	Handicapped Parking Aggregate Base Course	67 SY @ \$9.00	\$603.00		
3' of 5' Wide (60%) 525 SF x. 6 = 315 SF @ \$2,5 SF x. 6 = 315 SF & \$2,5 SF x. 6 = 315 SF & \$2,5 SF x. 6 = 315 SF x. 6 SF x. 6 = 315 SF x. 6 = 315 SF x. 6 SF x. 6 = 315 SF x. 6 SF x. 6 SF x. 6 = 315 SF x. 6 SF x. 6 SF x. 6 SF x. 6 = 315 SF x. 6 SF	ω	Handicapped Parking Pavement Markings	1 LS @ \$64.00	\$564.00		
### ### ##############################		Concrete Walk	3' of 5' Wide (60%) 525 SF x .6 = 315 SF @ \$3.00	\$945.00		
### ### ### ##########################	<u> </u>					
NOTE: \$2,941.00				\$2,941.00		
\$2,800.00 (Consultant Fee) x .0312 (3.12%) Sub Total - Consultants Sub-Total - Beau Drive Parking Lot Improvements Parking Lot Improvements \$33			NOTE: \$2,941.00 (ADA Improvement Costs) + \$94,118.00 (Total Construction Cost Estimate) = 3.12% of Project Funds Allocated for ADA Improvements.			
\$2,800.00 (Consultant Fee) × .0312 (3.12%) Sub Total - Consultants Sub-Total - Beau Drive Parking Lot Improvements Parking Lot Improvements \$3,	1					
Sub Total - Consultants Sub-Total - Beau Drive Parking Lot Improvements \$3	L.,	Civil Engineer	\$2,800.00 (Consultant Fee) x	\$87.00		
Sub-Total - Beau Drive Parking Lot Improvements	<u> </u>		Sub Total - Consultants	\$87.00		
			Sub-Total - Beau Drive Parking Lot Improvements	\$3,028.00		
		TOTAL AMOUNT REQUESTED		\$3,028.00		



1685 W. HIGGINS, HOFFMAN ESTATES, IL 60195-2998 • (847) 885-7500 FAX (847) 885-7523

January 3, 2006

Ms. Susie Julison
Executive Director
Northwest Special Recreation Association
3000 Central Road-Suite 205
Rolling Meadows, IL 60008

### Dear Susie:

The Hoffman Estates Park District hereby requests approval of the NWSRA Board of Directors for the expenditure of funds from the District's special recreation levy, to pay the costs of the following equipment in support of building a fully operational sled hockey program. The Hoffman Estates Park District has made appropriate adaptations to the rink and has successfully hosted the National Junior Tryouts in preparation to facilitate this exciting opportunity.

Purchase of the special sticks, sleds and picks would be through Unique Inventions Inc. <a href="https://www.uniqueinventionsinc.com">www.uniqueinventionsinc.com</a> and the balance of the equipment would be purchased through our conventional hockey suppliers.

Sleds, sticks and picks \$500.00 x 20= \$10,000.00 Helmets- \$50.00 x 20=\$1,000.00 Gloves-\$40.00 x 20 = \$800.00 Shin guards- \$30.00 = \$600.00 Pants- (Often tear out un needed pads) Average \$80.00 x 20 = \$1600.00 Shoulder pads-\$50.00 x20= \$1,000

The total cost for all the required equipment- \$15,000.00

The purchase of this equipment will offer a wonderful new healthy, recreational or competitive opportunity for a vast range of people with various considerations. The program will be sanctioned and strongly supported by the Illinois governing faction AHAI and USA Hockey.

The district respectfully requests that you review this request and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me.

Very truly yours.

Jeff Doschadis General Manager

Hoffman Estates Park District



### Mt. Prospect Park District

Serving Portions of Mt. Prospect • Des Plaines • Arlington Heights • Elk Grove Village

www.mppd.org

### ADMINISTRATIVE OFFICES

(847)255-5380

Fax (847)255-1438

1000 W. Central Road

Mt. Prospect, IL 60056

December 28, 2005

### CENTRAL

### COMMUNITY CENTER

(847)255-5380

Fax (847)392-5726

1000 W. Central Road

Mt. Prospect, IL 60056

### RECPLEX

(847)640-1000

Fax (847)364-2824

420 W. Dempster Street

Mt. Prospect, IL 60056

### LIONS

### RECREATION CENTER

(847)632-9333

-Fax (847)632-9325

411 S. Maple Street

Mt. Prospect, IL 60056

### FRIENDSHIP PARK CONSERVATORY

(847)298-3500

Fax (847)296-2053

395 Algonquin Road

Des Plaines, IL 60018

### MT. PROSPECT GOLF CLUB

(847)259-4200

Fax (847)632-9334

600 See-Gwun

Mt. Prospect, IL 60056

### **GOLF COURSE GARAGE**

(847)632-9330

Fax (847)342-9113

600 See-Gwun

Mt. Prospect, IL 60056

### LIONS GARAGE

(847)632-9320

Fax (847)255-8349

411 S. Maple Street

Mt. Prospect, IL 60056

Susie K. Julison

**Executive Director** 

Northwest Special Recreation Association

3000 Central Road - Suite 205

Rolling Meadows, IL 60008

Westbrook School Improvements Proposed To Be Financed Using Special Re:

Recreation Levy

### Dear Ms. Julison:

The Mt. Prospect Park District hereby notifies and requests approval of the NWSRA Board of Director for the proposed expenditure of funds from the District's special recreation levy, to pay the cost of the following improvements at Westbrook School.

See Attachment 'A".

The total estimated cost of the improvements including consultants, is \$155,000.00. Of that total, \$70,865.00 is estimated to be the cost for accessible improvements. These improvements are scheduled to be completed by July 2006. The benefits of this project to NWSRA are as follows:

- Provides accessible paths into and around the new playground.
- Provides accessible play to 82% of the play structure and 100% of all independent play equipment.

The Mt. Prospect Park District respectfully requests that you review this proposal and present it with your approving recommendation to the NWSRA Board of Directors. If you have any questions or require additional information, please do not hesitate to contact me at (847) 255-5380.

Very truly yours,

MT. PROSPECT PARK/DISTRICT

Louis J. Ennesser, Jr. RLA Director of Parks & Planning Mt. Prospect Park District

Cc w/Attachments

Walter L. Cook

Chief Executive Officer
Mt. Prospect Park District

Sharon Anderson Director of Recreation Mt. Prospect Park District ATTAC ENT 'A'

## WESTBROOK SCHOOL IMPROVEMENTS TO BE FINANCED USING SPECIAL RECREATION LEVY MT. PROSPECT PARK DISTRICT **COST SUMMARY**

	<u></u>	ESTIMATED COST	J. — . — . — . TSO	ACTUAL COST	TSC
	DESCRIPTION	CALCULATION	COST	CALCULATION	COST
-	Engineered Wood Fibre Playground Surfacing	175 CY @ \$26.00	\$4,550.00		
2	3' Wide Integral Concrete Curb/Walk around Perimeter of Play Area	1,000 SF @ \$12.00	\$12,000.00		
က	Play Structure	1 EA @ \$50,180 x .82 (82%) See Attachment 'B'.	\$41,148.00		
4	Six Seat Swing	1 EA @ \$4,368 x 1 (100%) See Attachment 'B'.	\$4,368.00		
က	Four Seat See-Saw	1 EA @ \$3,035 x 1 (100%) See Attachment 'B'	\$3,035.00		
ဖ	Horse Spring Toy	1 EA @ \$927 x 1 (100%) See Attachment 'B'.	\$927.00		
	Rhino-Dino Spring Toy	1 EA @ \$948 x 1 (100%) See Attachment 'B'.	\$948.00		100
∞	Play Equipment Shipping	1 EA @ \$985 x .88 (88%) See Attachment 'B'	\$867.00		
			\$67,843.00		
		NOTE: \$67,843.00 (ADA Improvement Costs) + \$155,000.00 (Total Construction Cost Estimate) = 43.8% of Project Funds Allocated for ADA Improvements.			
1	Civil Engineer	\$6,900.00 (Consultant Fee) x	\$3,022.00		
		Sub Total - Consultants	\$3,022.00		
		Sub-Total - Westbrook School Improvements	\$70,865.00		
<u> </u>	TOTAL AMOUNT REQUESTED		\$70,865.00 J		



Box 2121 LaGrange, IL 60525 708–579–9055 1–800–526–6197 708–579–0109 (fax) play@nutoys4fun.com www.nutoys4fun.com

December 19, 2005

Lou Ennesser
Mt. Prospect Park District
1000 W. Central Rd.
Mount Prospect, IL 60056

Re: Westbrook School

Dear Lou,

It was good talking with you about Westbrook School play equipment requirements. The play equipment has been designed to comply with current ADA standards.

Playground Equipment is 88% accessible (23 of 26 play events)

23 of the 26 play events are accessible Overall percentage = 88% Structure Only = 82% Independent Equipment = 100%

Elevated Events = 17 Accessible via Transfer = 14 Ground Level Events = 9

Please contact me if there are questions or if I can be of further help. We appreciate your interest in our equipment.

Sincerely, NuToys Leisure Products

Jack Gleason JG/mw



1685 W. HIGGINS, HOFFMAN ESTATES, IL 60195-2998 • (847) 885-7500 FAX (847) 885-7523

December 20, 2005

Ms. Susie K. Julison Executive Director Northwest Special Recreation Association 3000 Central Road, Suite 205 Rolling Meadows IL 60008

### RE: ADA Improvements To Be Charged To The Special Recreation Levy

Dear Ms. Julison:

The Hoffman Estates Park District hereby notifies you and requests approval of the NWSRA Board of Directors for ADA related capital improvement costs made in conjunction with the renovation of the former Blackhawk Community Center which will be applied to the district's Special Recreation Fund Levy. Attached is a list accounting for those ADA improvements which totals \$166,263.10.

The district respectfully requests that you review this matter and present it, with your approval and recommendation, to the NWSRA Board of Directors.

Should you have any questions or concerns please contact me at (847) 885-7500.

Director of Planning & Development Hoffman Estates Park District

Buczkowski

c. Dean R. Bostrom, Executive Director, Hoffman Estates Park District Park Board of Commissioners – Hoffman Estates Park District



# ADA Improvements 2005 To Be Charged To The Special Recreation Levy

_			
		•	
\$100,203.10			
#466 060 40			All Projects Total
\$8 427 10		\$179.30/each	Supply and install 46 handle-type door hardware C.C.I.A. renovation
\$5 220 00			Install AUA follet partitions wigrab bars to accommodate wheelchair access C.C.I.A.
\$6,350.00			Install auto opener on exterior vestibule doors north C.C.I.A.
\$7.600.00			
	\$4,300.00	Handrail	
-	\$3,300.00	Concrete Work	Install Public Edst side of Blackhawk Senior Center
\$4,160.00		\$160/each	Replace 26 Fire Horns with new A/IV devices
4101,000.00			
\$134 506 00		Total	
	\$9,092.00	Architectural Fees 7.25%	
	\$26,000.00	Concrete Foundation	
	\$1,500.00	Painting	
	\$780.00	Flooring	
	\$3,100.00	Fire Sprinkler	
	\$5,700.00	Electric	
	\$8,000.00	Demolition	
3	\$18,702.00	Structual Steel	
	\$18,500.00	Masonry Walls	
<u></u>	\$43,131.58	Elevator equipment install	- C.C.I.A.